
Page 1 of 1

1,2.

Leg Kit - Jeep JK Pioneer Fit Kit
Parts List

Parts List 4dr JK 2dr JK Part No.
1 Low Leg Kit (x4 legs) 0 1 RCL4
2 Low Leg kit (x6 legs) 1 0 RCL6
3 Pioneer 10mm Spacer Kit 2 2 QMPS10
4 20mm Spacer Kit 1 0 QMHD20
5 Jeep Hardware Fit Kit 1 1 SUB0800
6 Instructions 1 1 R1813

3.

4. 5.

Note: The following instructions provide information relating to the RLCP38/RLCP39 fi tting a Pioneer Platform, 
Tray or Tradie Tray to the Jeep JK Backbone. These kits are sold separately.
Tools Required: 1 - 10mm Socket Wrench. 2 - Pliers.

Instructions

Rhino-Rack
22 Hanson Place, Eastern Creek   Document No: R1813 Fit Time: 20min
NSW 2766, Australia. Prepared By: Kayle Everett Issue No:  02
(Ph) (02) 8846 1900  Authorised By: Nicholas Clarke Issue Date: 28/08/2018
These instructions remain the property of Rhinorack Australia Pty Ltd and may not be used or changed for any other purpose than intended.

1 The legs of the system must have their locator tabs removed before installing them to the vehicle. Using pliers, 
grip and twist off  the two tabs on the underside of the legs. File down any additional material as required.

The underside of the leg 
should be fl at. File down 
any material still present 
after cutting.

2 M6 x 20mm hex
M6 spring washer
M6 x 16mm washer

4DR JK:

Front Bar Middle Bar Rear Bar

M6 x 20mm hex
M6 spring washer
M6 x 16mm washer

2DR JK:

Front Bar Rear Bar

3

Front Bar Middle Bar Rear Bar Front Bar Rear Bar

4DR JK: 2DR JK:
QMPS10

Low leg

QMHD20

Low legLow leg

QMPS10

Low leg

QMPS10

Low leg

rodr
Small Controlled


